
BASIC BRUSH CRUSHER™ REPLACEMENT PARTS

OPT. BCK-003 TIE BAR KIT (70 SERIES)OPT. BCK-001 TIE BAR KIT (20/40 SERIES)

3

6 5

6

5

4

2

1

7

1

2
4

3
3

4 2

1

REF # PART # DESCRIPTION QTY.
1 BCP-80COM BRUSH CRUSHER 1
2 BCP-80AS TOOTH 1
3 BCP-83AS FRONT TEETH 1
4 BCP-86AS PIN 1

REF # PART # DESCRIPTION QTY.
5 HHS1210040 3/4" X 2 1/2" BOLT 2
6 HFN1210 3/4" NUT 2
7 DRP0600032 DOUBLE ROLL PIN 1

REF # PART # DESCRIPTION QTY.
1 BCP-34 ANGLE SUPPORT 1
2 BCP-35 LOCK PLATE 2
3 HHS0813016 1/2" X 1" BOLT 2
4 LWM08 1/2" LOCKWASHER 2

REF # PART # DESCRIPTION QTY.
1 BCP-36 ANGLE SUPPORT 1
2 BCP-35 LOCK PLATE 2
3 HHS0813016 1/2" X 1" BOLT 2
4 LWM08 1/2" LOCKWASHER 2

  7.1

Service & Maintenance

WESTENDORFMFG SJG011021

BC-5000 Basic Parts

WESTENDORF MFG CO., INC. • PH: (712) 423-2762• FAX: (712) 423-1460 • sales@westendorfmfg.com • www.loaders.com



BCK-006 SLEEVE KIT (SET OF 2)

BCK-007 SLEEVE KIT (SET OF 2)

BCK-004 PIN KIT (SET OF 2)

BCK-005 SLEEVE KIT (SET OF 2)

2

5

6
1

3

4

7

BCP-200COM

1 2

5

3

4

BCP-206COM

2

5

4

3

1

6

BCP-183COM

9

5

8

1 33
BCP-186COM

REF # PART # DESCRIPTION QTY.
1 BCP-200AS REAR PIVOT PIN 1
2 BCP-201 PIVOT STRAP 1
3 BCP-201AS PIVOT STRAP 1
4 BCP-204AS STORAGE PIN 1
5 BCP-197 SPACER WASHER 1
6 BUS-96 BUSHING 1
7 QLP0400028 LYNCH PIN 3

REF # PART # DESCRIPTION QTY.
1 BCP-206AS SLEEVE 1
2 BCP-204AS STORAGE PIN 1
3 BCP-201 PIVOT STRAP 1
4 BCP-201AS PIVOT STRAP 1
5 QLP0400028 LYNCH PIN 1

REF # PART # DESCRIPTION QTY.
1 BCP-183AS SLEEVE 1
2 BCP-204AS STORAGE PIN 1
3 BCP-185 PIVOT STRAP 1
4 BCP-185AS PIVOT STRAP 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY.
1 BCP-186AS SLEEVE 1
2 BCP-204AS STORAGE PIN 1
3 BCP-187 PIVOT STRAP 1
4 BCP-187AS STRAP 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

  7.2

BC-5000 Brush Crusher™ KitsService & Maintenance

WESTENDORFMFG SJG011021

WESTENDORF MFG. CO., INC. • PH: (712) 423-2762 • FAX: (712) 423-1460 • sales@westendorfmfg.com • www.loaders.com



BCK-011 SLEEVE KIT (SET OF 2)

BCK-010 SLEEVE KIT (SET OF 2)

BCK-008 SLEEVE KIT (SET OF 2)

BCK-009 SLEEVE KIT (SET OF 2)

2

5

4
1

6

3

BCP-180COM

2

5

6

1 4
3

BCP-194COM

2

5

3
1

4

6

BCP-190COM

2

5

4

1

3

6

BCP-193COM

REF # PART # DESCRIPTION QTY.
1 BCP-180AS SLEEVE 1
2 BCP-204AS STORAGE PIN 1
3 BCP-182 PIVOT STRAP 1
4 BCP-182AS PIVOT STRAP 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY.
1 BCP-194AS SLEEVE 1
2 BCP-204AS STORAGE PIN 1
3 BCP-187 PIVOT STRAP 1
4 BCP-187AS STRAP 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY.
1 BCP-190AS SLEEVE 1
2 BCP-204AS STORAGE PIN 1
3 BCP-192AS PIVOT STRAP 1
4 BCP-192 PIVOT STRAP 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY.
1 BCP-193AS SLEEVE 1
2 BCP-204AS STORAGE PIN 1
3 BCP-185 PIVOT STRAP 1
4 BCP-185AS PIVOT STRAP 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

  7.3

Service & Maintenance

WESTENDORFMFG SJG011021

BC-5000 Brush Crusher™ Kits

WESTENDORF MFG. CO., INC. • PH: (712) 423-2762 • FAX: (712) 423-1460 • sales@westendorfmfg.com • www.loaders.com



BCK-012 SLEEVE KIT (SET OF 2)

BCK-014 PIN KIT (SET OF 2)

BCK-013 SLEEVE KIT (SET OF 2)

BCP-195COM

5

2

4
1

3

6

2

5

6

1

4
3

BCP-188COM

4

5

23

1

6

BCP-207COM

REF # PART # DESCRIPTION QTY.
1 BCP-195AS SLEEVE 1
2 BCP-204AS STORAGE PIN 1
3 BCP-207 PIVOT STRAP 1
4 BCP-207AS PIVOT STRAP 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY.
1 BCP-188AS SLEEVE 1
2 BCP-204AS STORAGE PIN 1
3 BCP-207 PIVOT STRAP 1
4 BCP-207AS PIVOT STRAP 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY.
1 BCP-184 STEP PIN 1
2 BCP-207AS PIVOT STRAP 1
3 BCP-207 PIVOT STRAP 1
4 BCP-204AS STORAGE PIN 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

7.4

Service & Maintenance

WESTENDORFMFG SJG011021

BC-5000 Brush Crusher™ Kits

WESTENDORF MFG. CO., INC. • PH: (712) 423-2762 • FAX: (712) 423-1460 • sales@westendorfmfg.com • www.loaders.com



BCK-015 HINGE PLATE KIT (SET OF 2)

BCK-016 HINGE PLATE KIT (SET OF 2)

14

2

3

8

10

7 11
4

4

1
5

13

17

12
16

15

9

6

BCP-111COM

4

10

3
11

15

9
13

7
25

8
11

1

14

12

6

BCP-113COM

REF # PART # DESCRIPTION QTY
1 BCP-100AS-R HINGE PLATE (RIGHT) 1
2 BCP-100AS-L HINGE PLATE (LEFT) 1
3 BCP-110 PIN 1
4 BCP-111 STRAP 2
5 BCP-209 STRAP 1
6 BCP-209AS STRAP 1
7 BCP-116AS CLAMP PLATE 1
8 BCP-118AS CLAMP 2
9 BCP-121 CLAMP 1

10 HFN1011 5/8" NUT 2
11 HTN0813 1/2" LOCK NUT 4
12 SR-C08 SNAP RING 2
13 SR-C10 SNAP RING 4
14 BCP-204AS STORAGE PIN 1
15 QLP0400028 LYNCH PIN 1
16 QLP0700024 LYNCH PIN 2
17 ZER1805 GREASE FITTING 1

REF # PART # DESCRIPTION QTY
1 BCP-100AS-R HINGE PLATE (RIGHT) 1
2 BCP-100AS-L HINGE PLATE (LEFT) 1
3 BCP-110 PIN 1
4 BCP-104AS CLAMP 1
5 BCP-108AS CLAMP 2
6 BCP-112 STRAP 1
7 BCP-112AS STRAP 1
8 BCP-113 STRAP 2
9 BCP-204AS STORAGE PIN 1
10 HTN0813 1/2" LOCK NUT 4
11 SR-C10 SNAP RING 4
12 SR-C08 SNAP RING 2
13 QLP0400028 LYNCH PIN 1
14 QLP0700024 LYNCH PIN 2
15 ZER1805 GREASE FITTING 1

  7.5

Service & Maintenance

WESTENDORFMFG SJG011021

BC-5000 Brusher Crusher™ Kits

WESTENDORF MFG. CO., INC. • PH: (712) 423-2762 • FAX: (712) 423-1460 • sales@westendorfmfg.com • www.loaders.com



BCK-017 HINGE PLATE KIT (SET OF 2)

BCK-029 PIN KIT (SET OF 2)

BCK-018 SLEEVE KIT (SET OF 2)

BCP-219COM

5

4

2
1

3

6

BCP-208COM

4

5

2
3

1

6

BCP-185COM

7

9
10

17

18

14
13

8

15
6

11

3

12

16

12
1

4
2

5

REF # PART # DESCRIPTION QTY.
1 BCP-208AS SLEEVE 1
2 BCP-207AS PIVOT STRAP 1
3 BCP-207 PIVOT STRAP 1
4 BCP-204AS STORAGE PIN 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY.
1 BCP-184 STEP PIN 1
2 BCP-185AS PIVOT STRAP 1
3 BCP-185 PIVOT STRAP 1
4 BCP-204AS STORAGE PIN 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY
1 BCP-218AS-R HINGE PLATE 1
2 BCP-218AS-L HINGE PLATE 1
3 BCP-108AS CLAMP 2
4 BCP-110 PIN 1
5 BCP-113 STRAP 2
6 BCP-216AS CLAMP 1
7 BCP-219AS PIVOT STRAP 1
8 BCP-220AS-L OR R PIVOT STRAP 1
9 HHS1210048 3/4" X 3" BOLT 2

10 HTN1210 3/4" LOCK NUT 2
11 HTN0813 1/2" LOCK NUT 4
12 SR-C10 SNAP RING 4
13 BCP-204AS STORAGE PIN 1
14 QLP0400028 LYNCH PIN 1
15 QLP0700024 LYNCH PIN 2
16 ZER1805 GREASE FITTING 1
17 BCP-210 SEX BOLT - MALE 2
18 BCP-211 SEX BOLT - FEMALE 2

  7.6

Service & Maintenance

WESTENDORFMFG SJG011021

BC-5000 Brush Crusher™ Kits

WESTENDORF MFG. CO., INC. • PH: (712) 423-2762 • FAX: (712) 423-1460 • sales@westendorfmfg.com • www.loaders.com



BCK-032 PIN KIT (SET OF 2)

BCK-033 PIN KIT (SET OF 2)

BCK-034 PIN KIT (SET OF 2)

BCK-031 SLEEVE KIT

4

9

108

52

3

1

11

7

7

6

9

10

4

5

23

1

6

BCP-212COM

4

5

2

3

1

6

BCP-187COM

4

5

2
3

1

6

BCP-192COM

REF # PART # DESCRIPTION QTY.
1 QC-3501COM MALE COUPLER COMPLETE 2
2 QC-1508 PLATE BRACE 2
3 QC-1513 ANGLE IRON STOP 4
4 BAND-15 METAL BAND 2
5 QC-1506AS TRIP BLOCK 2
6 BCP-182AS PIVOT STRAP 2
7 BCP-182 PIVOT STRAP 2
8 BCP-184 STEP PIN 2
9 BCP-204AS STORAGE PIN 2

10 QLP0400028 LYNCH PIN 2
11 QLP0700024 LYNCH PIN 4

REF # PART # DESCRIPTION QTY.
1 BCP-184 STEP PIN 1
2 BCP-212AS PIVOT STRAP 1
3 BCP-212 PIVOT STRAP 1
4 BCP-204AS STORAGE PIN 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY.
1 BCP-184 STEP PIN 1
2 BCP-187AS STRAP 1
3 BCP-187 PIVOT STRAP 1
4 BCP-204AS STORAGE PIN 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY.
1 BCP-184 STEP PIN 1
2 BCP-192AS PIVOT STRAP 1
3 BCP-192 PIVOT STRAP 1
4 BCP-204AS STORAGE PIN 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

7.7

Service & Maintenance

WESTENDORFMFG SJG011021

BC-5000 Brush Crusher™ Kits

WESTENDORF MFG. CO., INC. • PH: (712) 423-2762 • FAX: (712) 423-1460 • sales@westendorfmfg.com • www.loaders.com



BCK-036 PIN KIT (SET OF 2)

BCK-035 PIN KIT (SET OF 2)
4

5

2

1

3

6

BCP-182COM

4

5

2

3

1

6

BCP-213COM

REF # PART # DESCRIPTION QTY.
1 BCP-184 STEP PIN 1
2 BCP-182AS PIVOT STRAP 1
3 BCP-182 PIVOT STRAP 1
4 BCP-204AS STORAGE PIN 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

REF # PART # DESCRIPTION QTY
1 BCP-184 STEP PIN 1
2 BCP-213AS PIVOT STRAP 1
3 BCP-213 PIVOT STRAP 1
4 BCP-204AS STORAGE PIN 1
5 QLP0400028 LYNCH PIN 1
6 QLP0700024 LYNCH PIN 2

  7.8

Service & Maintenance

WESTENDORFMFG SJG011021

BC-5000 Brush Crusher™ Kits

WESTENDORF MFG. CO., INC. • PH: (712) 423-2762 • FAX: (712) 423-1460 • sales@westendorfmfg.com • www.loaders.com


	BRUSH CRUSHER
	Drawing View1
	Drawing View2
	Drawing View3

	BCKs 1
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Drawing View47

	BCKs 2
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55

	BCKs 3
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View87
	Drawing View88

	BCKs 4
	Drawing View56
	Drawing View57
	Drawing View58
	Drawing View59

	BCKs 5
	Drawing View61
	Drawing View62
	Drawing View63
	Drawing View89
	Drawing View90
	Drawing View101

	BCKs 6
	Drawing View65
	Drawing View91
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96

	BCKs 7
	Drawing View97
	Drawing View98
	Drawing View99
	Drawing View100


